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Asymmetry 5.5 - 11

-t: 0.09 - 0.30 GeV? -t: 0.30 - 0.40 GeV?
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Asymmetry 5.5 - 13

-t: 0.09 - 0.30 GeV? -t: 0.30 - 0.40 GeV? N -t 0.40 - 0.50 GeV?
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Bins Q2=4.4
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Asymmetry 4.4 - 13

-t: 0.09 - 0.21 GeV? -t: 0.21 - 0.28 GeV? -t: 0.28 - 0.35 GeV?
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Asymmetry 4.4 - 15

-t: 0.09 - 0.21 GeV? -t: 0.21 - 0.28 GeV? -t: 0.28 - 0.35 GeV?
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Bins Q2=3, W=2.32
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Asymmetry 3, W

-t 0.09 - 0.20 GeV*

-t 0.20- 0.25 GeV?

-t 0.25- 0.30 GeV

-t 0.30- 0.35 GeV
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—tlow | —t high | nEvents
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Asymmetry 3

-t 0.02- 0.07 GeV* -t 0.07 - 0.10 GeV? -t 0.10- 0.13 GeV -t 0.13- 0.16 GeV®
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Bins Q2=2.1
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Asymmetry 2.1

-t 0.01- 0.04 GeV*

-t 0.04- 0.07 GeV?

-t 0.07 - 0.10 GeV

-t 0.10 - 0.13 GeV
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Asymmetry 2.1 - Combine bins 1+2

-t 0.02- 0.07 GeV* -t 0.07 - 0.10 GeV? -t 0.10- 0.13 GeV -t 0.13- 0.16 GeV®
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Next steps

B Mean kinematics per bin: ¢, Q3 W, xg, €
B Extract LT’: weighted average?

B Theory curves: update with new kinematics? Not easy with VR
model down
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